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1. x(| |x| |-| |)=28

By placing 4 of the digits 1, 2, 3, 4 and 5 in the boxes above, the given equality will be ensured.
If the digits in the boxes above different from each other what is the smallest digit which is no used?

MoxxHO nomecTnTb 4 undpbl U3 1, 2, 3, 4 1 5 B KNETOYKM BbILLE TaK, YTOObI JAHHOE PABEHCTBO
ObINO BEPHbIM.

Ecnn Bce undpbl B KneTkax Bbille OTNnYalTCa ApYyr OT Apyra, YeMy paBHO HauMeHbLUee
BO3MOXHOE 3Ha4YeHue umdpbl, KOTOpasi He UCNONb3yeTca?

A) 1 B) 2 C)3 D) 4 E)S

2. Ayse writes a 3-digit natural number in her notebook and gives the following informations about
this number to her friends.

"1 The number is an odd number
"1 The sum of the digits of the numberis 7

In order for her friends to write the same number with Ayse definitely, at least how many number
should they write?

Aliwe 3aQyMbIBaeT Tpex3Ha4yHOe HaTypanbHOEe YMCIOo U aeT CBOUM APY3bsSM CreayroLLyo
nHpopmauuio 06 aTom uncne.

"1 4Yncno HeyeTHoe.
"1 CymMa undp uncna pasHa 7.

MWHMMYM CKOMbKO Yncen AOSMKHbI HanucaTb Apy3bsa Alwwe, 4Tobbl HanMcaTb UMEHHO TO YMCHO,
KoTopoe 3agymana Anwe?

A) 6 B) 8 C)9 D) 10 E) 12
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3. In a classroom 18 of the students are boys and % of the students are girls.
According to the given informations above which of the followings is true for the number of girls and
boys in this classroom?

A) The number of girls is 1 more than the number of boys
B) The number of girls is 2 more than the number of boys
C) The number of girls is 3 more than the number of boys
D) The number of boys is 3 more than the number of girls
E) The number of boys is 1 more than the number of girls

7
B knacce 18 manb4nkos, a 73 Knacca — AeBOqKA.
CornacHo npuBeOEHHOW Bblle WMHGOPMAaLMK, Kakoe M3 Creaylolmx YTBEpPXOEeHUN BEepHO ONs
Konun4yecTBa AEeBOYEK M ManbYnKoB B 3TOM Knacce?

A) KonnyecTtBo geBoyek Ha 1 Bornblue, 4eM Manb4YmMKoB
B) KonnuecTtso gesoyek Ha 2 6onblue, YeM Manbs4mKoB.
C) KonuyecTtBo geBo4vek Ha 3 b6ornblue, YeM ManbYmKOB.
D) Konun4yecTtBo Manb4mkoB Ha 3 6onblue, YeM OeBOYEK.
E) KonnyectBo mansynkoB Ha 1 6ornblue, YeM OeBOYEK.

4. In the mathematics camp Ali and Ayse is waiting in a line for lunch. Ali is the 8th from the begin-
ning among all people in the line and is 3rd from the beginning among the boys. On the other hand
Ayse is the 14th from the beginning among all people in the line and is 6th from the beginning
among the girls.

According to the given information how many girls and boys are there in between Ali and Ayse in
the line?

A) 1 girl, 4 boys B) 1 girl, 3 boys C) 2 girls, 3 boys
D) 2 girls, 4 boys E) No girl, 5 boys

B matematnyeckom narepe Anv n Anwle CToaT B odepean Ha oben. Anv CToUT BOCbMbIM B
oyepean, HO SABMLAETCA TPETbUM cpeau ManbvmkoB, Ale ctouT 14-bIM B ovepeau, HO 6-on cpeam
[EBOYEK.

CornacHo npeaocTaBneHHon MHopMaLmn, CKOSNbKO LEBOYEK M MaNbYMKOB Mexay Anuv n Anwe?

A) 1 geBouyka, 4 manb4mka B) 1 peBouka, 3 manb4mka
C) 2 peBoukK, 3 mansynka D) 2 peBoukn, 4 manv4umka
E)HeT neBo4ykn, 5 Manb4mkoB
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5. Ceren choses two different numbers among the natural numbers from 1 to 12 each time and mul-
tiplies these numbers.
How many even numbers can she get by multiplying all possible pairs she choose?

[bkepeH Kaxabli pa3 BbIOMpaeT ABa pasHbiX Yucra cpeau HaTypanbHbiX Yncen ot 1 oo 12 u
YMHOXaEeT 3Tn ymcna.

CKONbKO YeTHbIX Yncesi oHa MOXET MNOSyYUTb, YMHOXUB BCE BO3MOXHblE€ Mapbl, KOTOPblE OHa
BblbepeT?

A) 31 B) 32 C) 51 D) 52 E) 63

6. In the figure below, a triangle generated from numbers is given. In this triangle, the numbers are
written according to a certain rule in the arrow direction.

Ha PUCYHKE HMXE jaH TPEYTrolibHUK, O6paSOBaHHbIVI n3 yucen. B atom TpeyrosibHMKe 4ncna nnuyTcA
no onpengeneHHomMy rnpasurty no HanpaslieHNO CTPESTKA.

According to this how many times the number 36 occurs in this triangle?
CornacHo aTomy, CKOMbKO pa3 YMcno 36 BCTPETUTCSA B 3TOM TpeyrofibHuKe?

A) 18 B) 12 C)9 D) 6 E) 4
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7. In a math club out of 20 students 12 of them are boys. Each week two girls and one boy is ac-
cepted to the club as a member.

How many member will the club have in the day the numbers of girls and boys are equal to each
other?

B matematnyeckom kpyxke 12 n3 20 yueHnKoB Mansymkn.Kaxxayo Hegento B KPY>XKOK MPUHUMAOTCS
ABe OeBOYKN U O4MH Manb4uK.

Ckonbko 4neHoB OydeT B KpyXke B TOT O€Hb, KOrga KONMYecTBO OeBOYEK U ManbvvMkoB byaet
paBHbIM?

A) 32 B) 34 C) 36 D) 38 E) 40

8. Selma and Tanem play a game together with the following rules. First Selma writes a number to a
paper then Tanem, in each of her consequtive move, erases that number and writes eather 2 more
or 3 less than the last erased number.

If Selma writes 1923, how many of the numbers 1001, 1953, 2001 and 2024 can be obtainer by
Tanem?

A) 1 B) 2 C) 3 D) 4 E) None of them

Cenbma n TaHem BMecTe nrparoT B Urpy no cneayrnwmm rnpasunam. CHavana Cenbma 3anucbiBaeT
YNCITO0 Ha 6ymary, 3atem TaHem npun KaxxgomMm Xxoae CTUpaeT 3TO HNCIIO U 3alncbiBaeT nnbo Ha 2
6onble, NMbo Ha 3 MeHbLLE, YeEM nocriegHee cteprtoe 4Y1crio. U Tak MOBTOPAET.

Ecnn Cenbma B Hayane Hanuwet vucno 1923, ckonbko n3 ducen 1001, 1953, 2001 n 2024 TaHem
CMOXET NonyynTb?

A)1 B) 2 C)3 D) 4 E) Hu oguH 13 Hux
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9. In a tournament between four football teams each team will play exactly once match with the other
teams. In this tournament a team gets 3 point for a win, 1 point for a draw and no point for defeat.
At the end of the tournament, teams’ total points are 5, 4, 3 and 2.

According to above informations how many draws are there in this tournament?

B TYPHUPE MexXOy YeTbipbMA C*)yT6OJ'IbeIMI/I KOMaHOaMun KaXXgad KoMaHga Cbirpaet poBHO OAUH
MaTty C ApyrmMmm KoMmaHgamu. B atom TYPHUPE 3a I'I06€L|,y KOMaHAda nojiy4daet 3 ouka, 3a HU4bto — 1
O4YKO 1 3a rnopaxeHmne — HM O0aHOro O4Ka. Mo ntoram TYpHUPA KOMaHObl NMOoNy4nuIin 5,4,3n2.

CornacHo BbllLieykazaHHON MHOPMaLMK, CKOMNBbKO HUYbUX B 3TOM TYpHUpE?

A) 1 B) 2 C)3 D)4 E)5

10. Deniz finds the average of 6 different positive integers as 7.
What is the maximum value of the greatest one of this 6 numbers?

[leHn3 HaxoauT cpegHee apnmMeTUYecKoe LLECTU PasnMYHbIX NONOXUTENBHbIX LIENbIX YACen Kak 7.
Uemy paBHO HanbornbLIoe 3Ha4YeHEe HaNbBOMbLLIErO N3 3TUX LLIECTU Yncen?

A) 30 B) 29 C) 28 D) 27 E) 25
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11. In a ticket sale point there are A, B an C counters. Tahir is the 5th person from the beginning in
the line of the counter A, Ayse is the 8th person from the beginning in the line of the counter B and
Zekeriya is the 11th person from the beginning in the line of the counter C. At his time the number
of the person behind of each of them in their line is twice the number of the person in front of them.
Due to a problem on the counters B and C, first the persons in the line of B and then the persons in
the line of C are added to the end of the line of the counter A.

In the final positon what is the Zekeriya’s rank in the line of the counter A from the beginning?

B Touke npogaxu 6unetoB nmetotcs ctonkn A, B n C. Taxmp — 5-1 4yenoBek ¢ Ha4ana B NIMHUK
cTtonkm A, Aie — 8-1 YenoBek C Havana B NuHUM cTonku B, a 3ekepuss — 11-11 Yenosek ¢
Ha4ana B nuHum ctonkmn C. KonnyecTBo nogen no3agn Kaxxaoro U3 HUX B ABa pasa bonblie
KonuyecTBa ntogen Bnepeamn HuX.

M3-3a npobnemsbl Ha cTonkax B 1 C B koHel, cTonkn A 0o6aBnaloTCs cHavana nogn nepeq
ctonkon B, a 3atem ntogm nepepn crorkon C.

B KoHe4yHOM no3uummn B Kakon ovepean ¢ Havana byaet 3ekepua ?

A) 46 B) 47 C) 48 D) 51 E) 66
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12. In the table below, the number of Arda and Kerem’s goals in a season, the number of assists
they had and the goal contribution numbers obtained by the sum of these numbers are given.
(Assist: Pass resulting in a goal)

Goal Assist Goal Contribution

According to the information provided, maximum to how many goals did Arda and Kerem help
together?

B Tabnuue Hmxe ykaszaHo konudecTso ronos Apabl n Kepema 3a oanH Ce30H, KONMYECTBO caeNaHHbIX
UMM roneBbIxX Nepegad u  KonmyecTBo OBLLMX ronoB, NoyYeHHbIe B pe3ynbrate CyMMbl 3TUX Yncen.
(Fonesas nepefnaya: nac, NPUBOAALLNIA K rony)

ronesas
nepepava

KONnuU4ecTBO
obwux ronoe

18 7 25

10 22 32

CornacHo npegoctaBneHHoON MHpopMaL M, MakCMMyM CKOMbKUM roriaM BMecTe nomoranu Apga v
Kepem?

A) 22 B) 25 C) 32 D) 40 E) 57
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13. Yunus, by using the cubes whose edge length is 1 unit, wants to create a model of his name’s
first letter of his name shown in the figure below and then he wants to paint the model with red color.

Yunus, ucnonb3ysi Kyouku ¢ anuHomn pebpa 1 eanHuLa, XxodeT co3gaTb MOAENb NepBoO ByKBbI CBOETO
UMEHW, NMOKa3aHHY Ha PUCYHKE HWXKe, a 3aTeM XO4YET NoKpacuUTb MoAesnb B KPACHbIN LBET.

Ecnn onst nokpacku ogHoro kyba Heobxoanmo 9 NNTPOB KPacHOM KPacKu, CKOSMBbKO SIMTPOB KpacHOM
KpacKu HY>KHO, YTOBbI NOKpacuUTb BCKO Moesb?

If in order to paint one of the cube 9 liter paint is needed howmany liter of red paint is needed to paint

the whole model?
A) 48 B) 54 C)57 D) 63 E) 66
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14. When the hexagon in the figure is cut along the 3 red lines 7 pieces can be obtained.
Ecnu paspesatb LWeCTUyronbHUK Ha pUCYHKe NO 3 KpacHbIM NMHUSM, MOXHO NOMNyYnUTb 7 YacTen.

At most how many pieces could be obtained if this hexagon would cut by 4 red lines?
MakcumymMm, CKOMbKO YacTen MOXHO MOMy4YMTb, €CNN 3TOT LWECTUYIONbHUK pa3pesaTthb Mo 4 KpacHbIM
nuHNAM?

A)9 B) 10 Cc)n" D) 12 E) 13

15. An at the point A can only move right and down on the lines to get to the point B.
Wrpok B To4ke A MOXET ABUraTbCSA TONbKO BNPaBO M BHM3 MO NIMHMAM, YTOObLI AobpaTbes Ao Touvkm B.

A

|

B

In how many diferent ways can the ant get to the point B from the point A?
CKonbKknmmn pasHbiMn cnocobamm Urpok MOXeT JobpaTbCa 13 Toukm A B TOUKy B?

A)9 B) 10 C) 14 D) 15 E) 16
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16. By writing each digit consecutively up to its value the following number is obtained.
122333444455...999

After than the number obtained is writen 1001 times side by side.

What is the digit at the middle of the final number?

Ecnn 3anncatb kaxayto undpy nocrnegosaTenbHO No npasuny «ogHa 1, aese 2, Tpu 3, YeTbipe 4,
naTh 5, wecTb 6, ceMb 7, BoceMb 8, AeBATb 9» NONyYMTCH criegyroLiee Yncno.
122333444455...999

Mocne aTtoro, nonyyYyeHHoe Yncno 3anucbiBaetcs pagbikom 1001 pas.

Kakasa yndpa ctont B cepegmHe oKoOHYaTenbHOro yncna?

A)7 B) 6 C)5 D)3 E) 2

17. View of a cube from three different directions is given below.

Hwxe npuBeaeH Bua Kyba ¢ Tpex pasHbIX CTOPOH.

According to views given what is the shape on the surface of the cube opposite to the surface
containing @ ?

CornacHo npuBegeHHbIM NpeacTaBeHnsM, KakoBa byaeT kapTyMHa Ha rpaHn Kyba, npOTUBOMNONOXHOM
rpaHun, cogepxatien @ ?

A) A B) B C) A D) ® E) None of them, Hukakoe
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18. Given a counting number, if the sum of the positive divisors different from itself is greater than
the given number than this number is defined as TMY number.

For instance for the positive divisors of 20 different than 20 are 1, 2, 4, 5 and 10. Since
1+2+4+5+10=22>20, 20 is said to be a TMY number.

According to the definition given above what is the su of the digits of the greatest 2-digit TMY
number?

Ecnn, ecnn cymma nonoXuTenbHbIX AenUTenen HaTypanbHOro Yncna, oTindHbIX

OT camoro 4ncna, 6onblue 3agaHHOro Y1cna, To 3TO YNCHO HasbiBaeTcs Yncnom TMY.
Hanpumep, nonoxumntenbHble genutenu yicna 20, otnndHble ot yucna 20, pasHbl 1, 2, 4, 51 10.
MMockonbky

1+2+4+5+10=22>20, 20 cuntaetca ymcnom TMY.

CornacHo npuBeAeHHOMY BblILLE ONpeAeneHunto, YeMy paBHa cymma Lmdp HanbosbLiero
ABy3Ha4vHoro yncrna TMY?

A) 17 B) 16 C) 15 D) 14 E) 13

19. Each of the numbers 1, 2, 3, 4, 5 and 6 is written once in the circles below.
Kaxxgasa ns uyndp 1, 2, 3, 4, 5 n 6 HanucaHa Kaxabli OAWH pa3 B KPY>KKax HUXKE.

)
—/

In the figure the sum of the numbers in the circles on the sides of the triangle are equal to each other.
According to this what is the smallest value of the product of the numbers in the colored circles?

Ha pucyHke cyMMbl YnCen B KPY>KKax Ha CTOPOHaX TPeYrofibHWKa paBHbl Mexay cobo.
CornacHo aToMy, YeMy paBHO HaMMeHbLLEE 3HAYEHNE NMPOU3BEAEHNS YMCEN B LIBETHbIX KPY>KKax?

A) 2 B)6 C) 10 D) 12 E) 15
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20. A bus starts its trip from izmir and goes to istanbul, Ankara and Antalya respectively and after
arriving Antalya it comes back to Izmir directly. In the table below the number of passengers who
gets on the bus in these cities and the number of passengers who gets off the bus in these cities

are given.
Get Or? O] \omir | Istanbul | Ankara Antalya ’
izmir 1 9 5
istanbul 7 3 8
Ankara 13
Antalya 6

Which of the following gives the number of the passengers on the bus between the cities?

ABTOBYC HauuMHaeT cBoe nyTellecTBMe W3 Izmir n cnegyeT B Istambul, Ankara v Antalya
COOTBETCTBEHHO, a nocne npubbiTus B Antalya Bo3spallaerca HanpamMyto B izmir. B Tabnuue Huxe
ANs KaXX4oW napbl ropooB YKa3aHO KONMMYEeCTBO NaccaXunpos, cagsLumxcsa B aBTobyc B NepBoM n3
3TUX rOPOAOB, U KONMMYECTBO NacCaXxmnpoB, BbIXOAALLMX N3 aBTobyca BO BTOPOM U3 HUX.

Capsamgue

e izmir | istanbul Ankara | Antalya ’
izmir 1 9 5
istanbul 7 3 8
Ankara 13
Antalya 6

UT0 13 crneayolmx gaeT KonM4yecTBO NaccaXMpoB B aBTobyce, KypcUpYyHoLLIEM MeXay ropogamm?

A) lzmir ——— Istanbul i:- Ankara
B) lzmir ir- Istanbul i:- Ankara
C) lzmir ir- Istanbul i:- Ankara
D) lzmir ir Istanbul i,, Ankara

E) lzmir ir- Istanbul i,, Ankara

——— Antalya —— |zmir
—— Antalya —— |zmir
——— Antalya L Izmir
——— Antalya —— |zmir

——— Antalya L Izmir
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21.

%._. 4

A square is cut by a scissors into two rectangles as shown in the figure.

If the circumferences of the obtained rectangles are 26 cm and 34 cm what is the circumference of
the square before it is cut?

KBa,D,paT paspe3aeTcd HOXHMUaMKM Ha ABa NpAMOYroJibHMKA, Kak NoKka3aHO Ha PUCYHKeE.

Ecnn nepumeTpbl NOMyYeHHbIX NPAMOYIONbHUKOB paBHbl 26 cM 1 34 CM, YeMy paBeH nepuMeTp
KBagpaTa [0 ero paspesaHus?

A) 40 B) 44 C) 48 D) 52 E) 15

22. a, b and c are two digit natural numbers.
If the equality holds

a, b 1 ¢ — gBy3Ha4Hble HaTyparbHble Yucna.
Ecnn

2024 2024 _ 2024
a-5 b+3 c-4

Which of the following order is true for a, b and c?
Kakoe 13 cnegyowmnx BepHo ansa a, b n c?

A)ar:c-r:b B)b-\:;;c:a. C)af:bf:.c

D)L"':'i"‘i‘c E) c<a<hb
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23. A square paper is marked by dashed lines into three equal rectangle.
KBagpaTHbIn nMCT Bymarun pasgeneH NyHKTUPHbIMU FIMHUAMUW Ha TPY paBHbIX NPAMOYTrofibHUKA.

Then it is folded as shown in the figure below and the black part in the final fold is cut out.

Which of the following is the opened form of the paper after the cut?

3aTteMm ero cknaabiBaloT, Kak NoKa3aHO Ha PUCYHKE HWXKE, N Bbipe3atoT YePHYHO YacTb B MOCNeaHEM
crunoe.

Kakoe 13 nepe4mcneHHoro aBnaeTca packpbiton doopmon Bymaru nocne paspesaHmsa?

A) | | B) | | C)

D) ! E) |
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24. The first three steps of a pattern obtained by using a square are given above.
lMepBble Tpu Wara nocnegoBaTenbHOCTU, NOSTYYEHHOrO C MOMOLLLIO KBagpaTa, NPUBEAEHbI BbiLLE.

1.Step 2. Step 3. Step
1. War 2. War 3. War

How many square are there in the 5th step of this pattern?
CKonbKo KBaZpaToB COOEPXKUTCA B NATOM Luare 3T0M nocneaoBaTenbHOCTU?
A) 121 B) 112 C)109 D) 98 E) 81
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25. In the figure above the big rectangles are congruent and in each rectangle the shaded part
represants a fraction.

Ha PUCYHKE HWXE, paBHblE NMPAMOYIOfibHUKK padaeneHbl Ha 4YaCTu, U B KaXaoM npAaMoyroJyibHuKe
3alUTpMxXoBaHHaA 4acCTb rnpencrasndaeT ﬂp06b.

\\‘x><+| + |+ =
L=~ | |

What is the sum of the fractions represanted by the shaded parts of the rectangles?
Yemy paBHa cymma apobein, npeacTaBneHHbIX 3alTPUXOBaHHbIMK YacTAMU NPAMOYTOfIbHUKOB?

bl

A) C)

W=
ol oo

D) E) 1

B

3
4




